Phy 2A 5/17

Wednesday, May 17, 2017 9:11 AM

Goals for the Lecture:

1) Use Conservation of Energy to solve problems

2) 'Understand how defining your system can change external
forces and potential energies
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A piece of luggage is being loaded onto an airplane by way of an inclined conveyor belt. The bag, which
has a mass of 10.0 kg, travels 4.50 m up the conveyor belt at a constant speed without slipping. If the
conveyor belt is inclined at a 40.0° angle, calculate the work done on the bag by: the force of gravity (Wg)
the normal force (WN) the friction force (Wf) the conveyor belt (Wconveyor) the net force (Wnet)
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A block attached to a spring is oscillating between point X (fully
compressed) and point Y (fully stretched). At point X, which of
the following quantities would reach its maximum value?
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The block’s kinetic energy® —» wo

— e £ O
The spring potential energy  —yes (alse  mes. o¥ A\ U= 26
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The magnitude of the block’'s momentum (W) »we = wee & O

The magnitude of the block’s acceleration o = ‘% > Wes Q\;» wrex \’>
Both 1 and 3

Both 2 and 4
None of the above
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A block attached to a spring is oscillating between point X (fully
compressed) and point Y (fully stretched). As the block moves
from point X to O (spring relaxed), the spring does work W on
the block. How much work does the spring do on the block as it
moves from O to Y?
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Application of the Day:
Generating energy involves transfer from one type to another:
Solar / hydroelectric / etc

Runaway truck ramps (like on I-5 over the Grapevine) convert KE into other
forms (PE, heat, etc)
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